
© 

BILL OF MATERIALS
ITEM QTY DESCRIPTION

1 1 STANDOFF BRACKET

2 2 T-PLATE

3 2 V-ANGLE PIPE CLAMP

4 2 BACKER ANGLE (NO NOTCH)

5 4 5/8-12 X 18" LONG THREADED ROD

6 8 5/8-12 X 2" A325 BOLT, HOT DIPPED GALVANIZED

7 16 5/8-12 HEX NUT, HOT DIPPED GALVANIZED

8 16 5/8" LOCK WASHER, HOT DIPPED GALVANIZED

9 16 5/8" FLAT WASHER, HOT DIPPED GALVANIZED

NOTE: ORDER MOUNTING PIPE AND U-BOLTS SEPARATELY

91
2"

1'-9 3
16"

1'-213
16"

MAY BE ADJUSTED
AS REQUIRED

3-1/2" O.D. PIPE
OR
2-7/8" O.D. PIPE
OR
2-3/8" O.D. PIPE
(ORDER SEPARATELY)

1

2

4
6
7
8
9

5
7
8
9

6
7
8
9

3

AutoCAD SHX Text
DATE

AutoCAD SHX Text
PART NO.

AutoCAD SHX Text
ZONE

AutoCAD SHX Text
REV

AutoCAD SHX Text
REVISIONS

AutoCAD SHX Text
DESCRIPTION

AutoCAD SHX Text
APPROVED

AutoCAD SHX Text
DATE

AutoCAD SHX Text
PROPRIETARY NOTE: THIS DOCUMENT AND THE INFORMATION IT CONTAINS IS PROPRIETARY AND CONFIDENTIAL TO VANCOMM LLC. IT HAS BEEN PROVIDED ONLY FOR YOUR INTERNAL USE IN CONSIDERING A PURCHASE FROM VANCOMM LLC. NEITHER THIS DOCUMENT NOR ANY PORTION THEREOF MAY BE RELEASED OR DISCLOSED TO ANY THIRD PARTY WITHOUT PRIOR CONSENT FROM VANCOMM LLC.  PLEASE DESTROY ALL COPIES OF THIS DOCUMENT IF YOU CANNOT ACCEPT THIS PROPRIETARY RESTRICTION. DOCUMENT COPYRIGHT© 2021, VANCOMM LLC.2021, VANCOMM LLC.

AutoCAD SHX Text
DESCRIPTION

AutoCAD SHX Text
SCALE

AutoCAD SHX Text
SHEET

AutoCAD SHX Text
DRAWN BY

AutoCAD SHX Text
LD

AutoCAD SHX Text
1 OF 1 

AutoCAD SHX Text
VCCWTML

AutoCAD SHX Text
06/15/2020

AutoCAD SHX Text
VARIES

AutoCAD SHX Text
XLD WIMAX COMPACT TOWER MOUNTS (LARGE LEG)

AutoCAD SHX Text
-

AutoCAD SHX Text
1

AutoCAD SHX Text
CREATED BACKER ANGLE WITHOUT NOTCH

AutoCAD SHX Text
02/23/2022

AutoCAD SHX Text
-


	Sheets and Views
	Assembly


